
解答 201

sinx = tとする。
0 < x < 2πのとき −1 < t < 1 · · · 1⃝である。
cos 2x = 1−2 sin2 x = 1−2t2，cos2 x = 1− t2から

y = 2 (1 − 2t2) t + 6 (1 − t2) + 7t

= −4t3 − 6t2 + 9t + 6 とでき
y′ = − 12t2 − 12t + 9

= −3 (4t2 + 4t − 3)

= −3 (2t + 3)(2t − 1)
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1⃝の範囲で増減表は

t −1 · · · 1
2
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y′ + 0 −

y −5
17
2

5

となるので
最大値 t =

1
2
すなわち x =

π
6
,
5
6
πのとき

17
2

最小値 t = −1 すなわち x =
3
2
πのとき −5
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